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PART—A

GENERAL STUDIES

1. Consider the following statements about

Harappan Civilization :

1. It provides the earliest evidence
of garlic.

2. Ornaments and precious metals
have been discovered at different
sites.

3. Exclusive use of burnt bricks is
a unique feature.

Which of the statements given above
is/are correct?

(@) 1 and 2
(b) 2 and 3
(c) 1 only
(d) 3 only

2. Consider the following archaeological

sites :

1. Burzahom

2. Sarai Khola

3. Kurnool

4. Attirampakkam

Which one of the following represents
the locations of the above sites starting
from north to south?

(@ 2-1-4-3
(b) 1-2-3-4
() 1-3-2-4
(d) 2-3-4-1
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3. Consider the following statements about

‘Dandi March’ :

1. The march was widely covered by
the European and American press.

2. It was the first nationalist activity
in which women participated in
large numbers.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

4. Who among the following Hellenic Kings

is not mentioned in the records of
King Ashoka?

(a) Antiochus of Syria
(b) Ptolemy II of Egypt
(c) Antigonus of Macedonia

(d) Alexander of Bactria

5. Who among the following Kings is said

to have destroyed a confederacy of
Tamil States in circa 155 BCE?

(a) Bindusara
(b) Karikala
(c) Gautamiputra Satakarni

(d) Kharavela
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6. Which one of the following was launched

as a campaign on March 22, 2021 with
the theme “Catch the Rain—where it
falls, when it falls” by the Ministry of
Jal Shakti?

(a) Jal Shakti Abhiyan

(b) Sahi Fasal Campaign

(c) Water Talk

(d) Pradhan Mantri Krishi Sinchayee
Yojana

7. In the context of the Indus Water Treaty,

1960, water of which one of the
following rivers was not allocated to
India for its exclusive use?

(a) Ravi
(b) Chenab
(c) Sutlej

(d) Beas

8. Which one of the following countries is

not a founding member of the New
Development Bank (NDB)?

(a) India
(b) China
(c) Russia

(d) Bangladesh
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9. Which one of the following international

organizations considers its core
responsibility as providing financial
help to member countries which are
experiencing balance of payments
problems?

(a) IFC

(b) IDA

(c) IMF

(d) IBRD

10. Who among the following was the

Chairman of the Committee constituted
by SEBI in April 2022 to review and
make recommendations for further
strengthening of governance norms at
market infrastructure institutions?

(a) G. Mahalingam
(b) Sandip Bhagat
(c) Uttam Bagri

(d) J. N. Gupta

11. The Headquarters of the Bay of Bengal

Initiative for Multi-Sectoral Technical
and Economic Cooperation (BIMSTEC)
is located in

(a) Colombo

(b) Bangkok

(c) New Delhi

(d) Dhaka
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12. What is the name of the Indian 14, Which of the following statements about

community newspaper that is written, the Chipko Movement is/are correct?
edited, produced, marketed and
distributed by Indian women since 1. It was opposed to the commercial
early 2000s? felling of trees in hill areas.

2. It was a non-violent movement.
(a) Kalantar

3. It supported construction of dams
(b) Usha Kirana in hilly regiona.
(c) Uttara Mahila Patrika Select the correct answer using the code

given below.

(d) Khabar Lahariya
(@) 1 and 2 only

13. Which of the following statements about ® L3 ppd 3

the Arya Samaj is/are correct?

() 2 and 3 only
1. It did not support idol worship.

2. It was against hereditary trans- (d) 1 only
mission of caste.

3. It actively worked for the passage

of the Hindu Widows’ Remarriage ) y -
Act. 1856. 15. Vaikom Movement was associated with

which one of the following issues?

Select the correct answer using the code
given below. (a) Land rights of the peasants of

Kerala

(@) 2 only (b) Temple entry struggle in Kerala

(b) 1 and 2 only (c) Rights of fishing community in

Karnataka
(c) 1 and 3 only

(d) Genetically modified crop cultiva-
(d 1, 2 and 3 tion in Tamil Nadu
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16. Which one among the following was

initiated by Jyotiba Phule?
(a) Satyashodhak Samaj
(b) Jat-Pat Todak Mandal
(c) Justice Party

(d) Harijan Sevak Sangh

17. Consider the following statements with

respect to earthquakes :

1. The point where energy is released
is called hypocentre.

2. The point on the surface nearest
to the focus is called epicentre.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

18. Which one of the following is not an

erosional landform?
(a) Esker

(b) Pediment

(c) Point bar

(d) Stack

19. Which one of the following is not a factor

that causes variations in ‘insolation’?
(a) Rotation of the Earth on its axis

(b) Angle of inclination of the Sun’s
rays

(c) Length of the day

(d) Vegetation cover on the Earth’s
surface
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20. Subduction zone with reference to plate

tectonics is associated with which of
the following plate boundaries?

1. Convergent boundaries
2. Divergent boundaries

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

What is the correct chronological
sequence of the following ‘periods’ in
the Earth’s geological timescale?

1. Cambrian

2. Carboniferous
3. Cretaceous

4. Devonian

Select the correct answer using the code
given below.

(@) 1-4-2-3
(b) 1-2-4-3
€ 1-2-3-4
(d) 2-1-3-4

22. Who among the following Chola Kings

conquered and annexed the Maldives?
(a) Parantaka

(b) Rajaraja

(c) Rajendra

(d) Gandaraditya

23. Who among the following constructed

the Kailasanatha Temple at
Kanchipuram?

(a) Simhavishnu

(b) Umadevi

(c) Nandivarman

(d) Narasimhavarman II Rajasimha

[ P.T.O.
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25. Who

26. Which one of the

24. Who among the following is the author

of the famous travel book Rihla ?
(a) Al-Biruni

(b) Ibn Battuta

(c) Seydi Ali Reis

(d) Mahmud Wali Balkhi

among. the following Bhakti
poetesses belonged to Kashmir Valley?

(a) Rupa Bhawani
(b) Akka Mahadevi
(c) Janabai

(d) Bahinabai

following
statements about Mahapurush Srimanta
Sankardeva is not correct?

(a) He was the leading proponent of
Vaishnavism in Assam.

(b) His teachings are
‘Bhagavati Dharma’.

known as

(c) One of his major compositions is
Bhakti-Ratnakara.

(d) He rejected the traditional Bhakti
form of Satsang, the Naam-Kirtan.

27. Which of the following statements about

Aramaic language is/are correct?

1. Aramaic is a language related to
Hebrew and Arabic.

2. Aramaic language has been used
in Ashokan inscriptions.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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28. Which of the following statements about

the National Stock Exchange (NSE) of
India is/are correct?

1: It was set up in 1990.

2. It was recognized as a stock
exchange by SEBI in 1993 and it
commenced its operations in 1994.

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

29. Insurance penetration is measured as

(a) the ratio of insurance premium to

population

(b) the percentage of insurance
premium to GDP

(c) the percentage of insurance

premium to per capita income

(d) the ratio of insurance premium to
market capitalization

30. According to the Budget Estimates of

2023-24, which one among the
following sectors received the highest
allocation of funds?

(a) Railways
(b) Rural Development
(c) Education

(d) Defence

[ P.T.O.
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31. Which of the following statements about 33. Who wrote the feminist text Stree-Purush

revenue and primary deficit is/are Tulana ?
correct?
1. Revenue deficit refers to the (a) Pandita Ramabai

excess of revenue expenditure over
revenue receipts.

. e, o (b) Rukhmabai
2. Primary deficit is measured as

fiscal deficit less interest payments.

Select the correct answer using the code () Rokeya Sakhawat Hossain

given below.

(d) Tarabai Shinde
(@) 1 only

(b) 2 only

(c) Both 1 and 2
34. Which of the following statements about

(@) Neither 1 nor 2 the Virasaiva Movement is/are correct?

1. Virasaiva followers are also known
as Lingayats.
32. Which of the following pairs of tribal
movements and their leaders are
correctly matched?

2. The Movement is closely associated
with Basaveshwara.

1. Rampa Rebellion : Alluri Sitarama 3. The Movement became institution-
Raju alized over a period of time.
2. Naga Movement : Haipou Jadonang

Select the correct answer using the code

3. Heraka Movement : Rani Gaidinliu .
given below.

4. Santhal Rebellion : Sidhu Murmu and
Kanhu Murmu

Select the correct answer using the code @ 1, 343

given below.

(b) 2 and 3 only
(@) 1, 2 and 3 only

(b) 2, 3 and 4 only (c) 1 and 2 only
(€ 1,2, 3 and 4

(d) 1 and 4 only (d) 3 only
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35. The provision for one-third representation 37. Consider the following statements with
respect to the ‘asthenosphere’ :

for women in the local self-government
has been introduced in the Constitution
of India through

(a) 42nd Amendment Act

(b) 63rd Amendment Act

(c) 73rd Amendment Act

(d) 75th Amendment Act

36. Which one among the following is not
a function of the National Commission

for Women in India? 38.

(a) To investigate and to examine
matters related to safeguards
provided for women under the
Constitution of India and laws

(b) To fund litigation involving issues
affecting a large body of women

39.

(c) To provide gainful employment to
women especially from the weaker
sections of the society

(d) To participate and advise on the
planning process of socio-economic
development of women

CDLE-A-GAP/54A 15

1.

It extends from the lower crust to
the upper mantle.

It is the main source of the magma
that finds its way to the surface
of the Earth during volcanic
eruptions.

Which of the statements given above
is/are correct?

(@)
(b)
(c)

1 only
2 only

Both 1 and 2

(d) Neither 1 nor 2

Which one of the following is net a basic
factor in soil formation?

(@)
(b)
(c)
(@)

Climate
Biological activity
Human activity (agriculture)

Time

Which one of the following is not a
‘cold ocean current’?

(@)
(b)
(c)
(@)

Benguela Current
Canary Current
Falkland Current

Kuroshio Current

[ P.T.O.
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42. Frafafea § @ F9-w1 TaomoRp e {7 (@) T fRE #1 26 W wemE @
(@) FfeETH (b) AT B - e
b) T (c) ¥ ol H TH TN T FE GEA
off
(c) s :
(d) FREFl W @Y W 9@ dds, @M
(d) FE oy ferm T
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40. Consider the following statements with
respect to ‘tides’ :

1. The tidal bulges on wide
continental shelves have greater

height.

2. When tides are channeled between
islands, they are called tidal
currents.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

41. Which one of the following is not
a bottom relief of the Indian Ocean?

(a) Chagos Ridge
(b) Amsterdam-St. Paul Ridge
(c) Somali Basin

(d) Philippine Trench

42. Which one among the following is
a Neolithic site?

(a) Adichanallur
(b) Hallur
(c) Brahmagiri

(d) Kurnool

CDLE-A-GAP/54A
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43. Which one of the following statements
about the Indian Association of 1876
is not correct?

(@)

(b)

(c)

(@)

It aimed at creating strong public
opinion in the country on political
questions and the unification of
Indian people under a common
political programme.

It did not charge any membership
fee from the poorer people.

Branches were opened in the towns
and villages of Bengal and in many
towns outside Bengal.

It was led by Surendranath
Banerjee and Ananda Mohan Bose.

44. The first session of the All India Hindu

Mahasabha, founded at the initiative
of Pandit Madan Mohan Malaviya and
Lala Lajpat Rai, was held in

(@)
(b)
(c)
(d)

1915
1920
1922
1923

45. Which one of the following measures was

not a consequence of the successful
Champaran Satyagraha of 1917?

(@)

(b)
(c)

(@)

The Sharabeshi rent was reduced
by 26 percent

The Abwabs were declared illegal

The Thekedari system was allowed
to continue as it was

The Tawan, a fine on peasants, was
abolished

[ P.T.O.



46. T ¥ BN TR Ul & Giua (A%eA) F w9 H 48. ufm wuia § IwrERetim wwaa e am |

AT TEATE % IR 947 ST STt 27
(a) T Garg fow (@) T (W)
(b) @ T W (b) w0
(c) TTEGh (c) <%
(d) feefht-foeh

(d) TREAY T

49. Fr=fafiga § ¥ SFR-d, qUEE Fgeraw F fag

371eyl g9 TE 87
(a) aféat 6 @&t 1@
47. IS wEAW % W & Hey §, "
Frrferfian § @ -/ - w2/ (b} ¥a-Ff sem
1. ¥eq 94 wdw, W&l awE 27 °C @ (c) wId a1

v &

d) ¥-9de & e i ag =
2. FIRATE o H A P i

3. GYH 99 97 W F AfE
50. wRd # ‘Hem g@l uwifed & % &9 A

A fow e e 1 R T I g farferfad # & F- 8 iga T8 27
(@ 132 (a) FETE TSR

(b) 133 (b) TSR 1 I WA

() 233 (c) I e % sl R

(@) ¥ 3 (d) VERTE %1 Hichvl &
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46. Who among the following succeeded

Lala Hardayal as the Secretary of the

Ghadar Party?

(a) Bhai Santokh Singh

(b) Sohan Singh Bhakna

(c) Ram Nath Puri

(d) Taraknath Das

47. Which of the following relating to the
formation of tropical cyclone is/are
correct?

1. Large sea surface with temperature
above 27 °C

2. Presence of Coriolis force

3. Upper convergence over the sea
level system

Select the correct answer using the code
given below.

(@) 1 and 2

() 1 and 3

(c) 2 and 3

(d) 3 only
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48.

49.

What is the name given to a tropical
cyclone in the Western Pacific?

(a) Cyclone

(b) Hurricane

(c)

Typhoon

(d) Willy-Willy

Which of the following is not
among the conditions ideal for inversion
of temperature?

(a)

(b)

(c)

(@)

A long winter night

Clear skies

Still air

Low air pressure near the ground
surface

50. Which one of the following is not

among the areas classified as ‘moderate
drought-affected areas’ in India?

(a)

(b)

(c)

(@)

Coimbatore Plateau

Northern part of Rajasthan

Southern districts of Uttar Pradesh

Konkan region of Maharashtra

[ P.T.O.



51. ffafas osat & fora o & & S Fhan 53. T @ fFem 1917 ¥ fai=g 3femm veifooem &

e el 27 A B amft sfee fad oft?
(a) TSRIE, T S, A (@) wRE o=
(b) WETETE 21
(b) TSI, FWEs, Fsrm N o
(c) TSR, Seiteg, g (d) e g

(d) wF WR_W, FREe, e
54. T ¥ ol 6 wEEE Wiy el (wfsufed
sesg fem) & wfier w@ gen yem

WA IR 1 o477
(@) HerrEd ST
(b) AEE WE I
52. fiefifas w fem i (c) ¥ g™
1. denfee (d) =it TE I
2. TR
55. f=fafiga ‘memETEl’ = gfém @ W it AR
3. wefem Ih feufa & desf o =yafee fifsw .
4. e 1. =fe
2. HWHH
s % dedl #, Frafoafas & @ f-wn od e
77 3
4, HaN
(b) 3w wft S Femeren (T 1) T & fa) 1-4-2-3
(b) 4-2-3-1
(c) o uf Seenfaat & A &
) 2-1-3-4
(d) < ot e STt § (@) 4-3-1-2
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51. The Tropic of Cancer does not pass
through which of the following groups
of States?

(@)

(b)

(c)

(@)

Gujarat, West Bengal, Nagaland

Rajasthan, Jharkhand, Mizoram

Gujarat, Chhattisgarh, Tripura

Madhya
Mizoram

Pradesh, Jharkhand,

52. Consider the following :

1

2.

3.

4.

Sohagighat
Lakhajoar
Kathotia

Jaora

With reference to the above, which one
of the following is correct?

(@)

(b)

(c)

(@)

All the above are Buddhist sites

All the above are rock art sites

All the above are names of tribes

All the above are ancient quarry
sites
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53. Who among the following took the lead

in organizing the Women’s Indian
Association in 1917?

(a) Margaret Cousins
(b) Meherbai Tata
(c) Fatima Sheikh

(d) Sarojini Naidu

54. Who among the following was the first

Indian ruler to accept the Subsidiary
Alliance System of Wellesley?

(a) Salabat Jung
(b) Asaf Jah II
(c) Tipu Sultan

(d) Baji Rao Il

55. Arrange the following ‘Mahajanapadas’

in terms of their locations from south
to north :

1. Chedi

2. Ashmaka
3. Panchala
4. Kamboja

Select the correct answer using the code
given below.

(@) 1-4-2-3
(b) 4-2-3-1
€ 2-1-3-4

(d) 4-3-1-2
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56. G-I I G-I & @y gafea Hifw 3w 59. G-l # A1 F @y gafaa Hifm =ik

gfeEt % 99 e T g2 @ W W Ed@ W gt % 9 fu T g w1 W W Ed W
ﬁﬁQ: §ﬁ'{:
ool 0T w1 whn
() (e (v (auR )
A. fay 1. @t )
B. =T 2. wafE
C. S&YA 3. yaHt A. Amw 1. ®HWSA a2
D. e 4. g B. Cwg 2. WRA &1 uinh a2
e C. As 3. ufift TeRa™
o} A B € D D. BWhw 4. T fEE
¥y 9.4
U i QR TR ¢
4 1 2 3 b e
A BN e ARG
3l LY  SiEy i WS
a3 2D
-9 yluvg B A B G D
gl g g
57.6?@1?@%%1{1?{!2%@31?%%73-81% ) A B C D
& T 27 BRI LEERE. Dhdc
(@ T2 TR g’ % wvd off I e 2 ) Ci e
(b) & GEE: AfeFR 3R ST Bt 2 - SR GRS S p ).

(c) & =g et Bt 8, @ F w2 3
v gt Bt 2, @ fage S 21
(d) a= & gmg F fou S&@ H gre T W 60. Fefafiga § & FH-¥, 9IRdE AFgT H
Tahdl 21 qifya #@ gt Ta-FE e @ fafie
A TE 27

s8. frfofen # ¥ FH-wm WA AW, T (a) & 5 el uw it w2

FawE & e Uda Sogge (IEwREd)

TETE 1 Th IR 87 (b) o Wi A # S R F wR B
(@) Faed TEA IAH

) it T (c) TROTHEEY wEs H AT H FH A
(c) Fuen T AW (d) RUTTEEY WRd § gan geA ea g
(d) Tom Fide v sam TG T BT
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§7. Which

56. Match List-I with List-II and select the

correct answer using the code given
below the Lists :

List-I List-IT
(River) (Tributary)
A. Indus 1. Seti
B. Ghaghra 2. Dhansiri
C. Brahmaputra 3. Bhavani
D. Kaveri 4. Nubra
Code :
{a) A B C D
3 1 2 4
(b) A B C D
4 1 2 3
(c) A B C D
3 2 1 4
d A B c D
4 2 1 3
one among the following
statements for black soil is not correct?
(a) It is also known as ‘regur soil’.
(b) It is generally clayey and
impermeable.
(c) It swells when wet and shrinks
when dry.
(d) It cannot retain water for long time.

58. Which one of the following National Parks

is an example of protected waterfowl
habitat under the Ramsar Convention?

(a) Keoladeo National Park
(b)
()
(@)

Bandipur National Park
Dudhwa National Park
Jim Corbett National Park
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59. Match List-I with List-II and select the

o 0 w »

correct answer using the code given
below the Lists :

List-I List-II
(Koppen’s type (Area of occurrence)
of climate)
Amw 1. Coromandel Coast
Cwg 2. West Coast of India
As 3. West Rajasthan
BWhw 4. Ganga Plain
Code :
(@) A B C D
3 4 1 2
(b) A B e D
3 1 4 2
(c) A B C D
2 4 1 3
(d A B C D
2 1 4 3

60. Which one of the following is not the

Nino’
Indian

feature of ‘El
impacting the

characteristic
phenomenon
monsoon?

(@) It replaces the cold Peruvian

current

(b)

Appearance of cold current in East
Pacific region

(c)
(@)

Results in reduction of planktons

Results in drought weak

monsoon in India

or

[ P.T.O.



aT—B
AT Il HR HSR Tl torat

61. U MaTEe fRae ST B?
(@) 23° =52
(b) 1024 =T
(c) 220 @
(d) 240 =me

62. Fail # waw % fou dew & F F guan Hwe
R foam Fif) 38 wEiea % foe Frafafaa §
4 frm wge/omeege feamm  (3mge /o
feargw) & wa foRan sran &7
(a) SAEHa uTeh et
(b) T
(c) Bafesw TRy f=
(d) FNEI =@

63. frafafga # § F9-w1 diwRaR o A=
veia 321 ® garted (Eed) X waar @ 3R
IGF YAY Gl 87
(a) 2@ B frwew
(b) TeE
(c) U
(d) aATRfen foren

64. TAE 9 wiEdl AR Wum W AW &
FA 8, 9 frefefaa & @ o a0 & veia
a1 &7
(@) Tehet AAR
(b) 3o To TWHo
(C) 3]1'{031"’[0@0
(d) T

65. @ $YE % aF 9W M &, a9 frefafaa |
¥ HHA-| AAE N TRAEE PGS I
a1 27
(@) NAND (b) NOR
(c) XNOR (d) XOR
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66. JTHUT G 325-412 F WA qodih 1
27
(@ 5195213
() 5195-339

(b) 339-5195
(d) 2135195

67-ﬁn%@aﬁam-mﬁa§aa—gaﬁz

.gaaﬁa%?
1D 13
(@) 1—9' (b) ﬁ
1x 17
(c) is (@) 21

68. TUR Tk &@ I 8 fai # qu wan & i W
I ®=@ F 16 A # qu W #1 FAR 3R
T wway fuere 3@ w1 w feaa R d g
FHHA &7
(@ 31f&

() 1%%{

b) 51f=
@ 3f=

69. FEgte = W Faw it T FiE g 2 @6 H
400 3 3 9§ # ¥420 B @ gl Aifiw

=TS S 991 87
(@ 2-5% b) 55%
© 4% d) 5%

70. 2 Ho wftfy #1 ww qfgan 80 o e &
FUEHR 99 W JEhal 8| AR T@ AW AH W
64 ST UHAT B, A1 99 F Hx W IR T -
1A 10 T BY
(@ 16T
(b) 1-4 T
c) 12
(@ 0-8 e



PART—B
NUMERICAL ABILITY AND COMPUTER PROFICIENCY

61. One gigabyte is equal to 66. What is the decimal equivalent of the
(@ 230 bytes octal number 325-412?
(b) 1024 bytes (@) 5195213 (b) 339-5195
(c) 220 bytes (c) 5195-339 (d) 213-5195
4
(d) 2% bytes 67. Which one of the following fractions is
2 Ty
62. Consider the security cards of hotel greater than 7 and lees than i
rooms to gain access to rooms. Which 15 11
one of the following input/output (a) 1% (b) 17
devices (I/O devices) is used for this
purpose? (c) ll_i (d) g
(a) Optical mark reader
(b) Scanner 68. Kumar completes a work in 8 days
(c) Magnetic stripe reader and Raj completes the same work in
(d) Cathode ray tube 16 days. In how many days can Kumar
and Raj together complete the work?
63. Which of the following softwares can (a) 3% days (b) 5?15. days
handle and manage bulk stored data? 5
(a) Database management system (c) 1% days (d) 3 day
(b) Database
(c) Compiler 69. A sum of money invested at compound

interest amounts to ¥400 in 2 years

(d) Operating system
ol and to ¥420 in 3 years. The rate of

64. The files and programs on which the user interest per annum is
is currently working are stored on which (@ 2-5% (b) 55%
; b
one of the following memories® © 4% d 5%
(a) Secondary memory
(b) RAM 70. A wheel of circumference 2 m rolls on
(¢ ROM a circular path of radius 80 m. What

is the angle made by the wheel about
the centre of the path, if it rotates
64 times on its own axis?

(d) Register

65. Which one of the following logic gates

produces true output when both the (@ 1'6 rad
values of its input are same? (b) 1-4 rad
(@) NAND () NOR (¢ 12 rad
(c) XNOR (d) XOR (d) 08 rad
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71.

72

73.

74.

75.

F& F1 9 §F 5:20 * 6T Wefid W @
A, A R A g o e A g F A
foraa 3w (feft) 1 o s=m?

(@) 35°

(b) 40°

(c) 42°

(@) 45°

7Rk A, B v C frdt By % #iw @ v 8
tan? B+ 1

5 A:B:C=2:3:4 %, a
tan? B-1

F1

T 1 Bme

(@) 4

(b)

(c) 1

(d O

frafeafigs § 4 S=-w1, Tam feomgT & w1

ferea =t 27

(a) e fafa (Yemic)

(b) BT (FEH)

(c) varg Gfem (wieEm)

(d) F (F8)

frefafaa # @ #9-T1, JoEE @ (TR

freen) &1 v TE 27

(a) TEw (Sheaem) e g (Regfhe)

(b) RS () F WEW (VR) AR g
(F=9)

(c) Teamsa waem

(d) ETEE TG

frfafiga 3§ & F9-91, T=eF o TE 87

(a) et

(b) B 3o THo

(c) TET
(d) fa== TaEo o

N
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76. Trafafaa # @ w-T, AffeN wEa wine T&
27
(@) T To o
(b) Q'qol'ﬁoioiﬂo
(c) T=Fo TWo To
(d) WchEﬂo
77. s G¥al (fefoea Rme) #t sgey &l
(e Rmer) # w9 w@ f ulEn @
1 FEd 8¢
(a) Tomigem (feufeyem)
(b) Wige (HTeIRTH)
(c) Tl (Frafiem)
(d) ETiaR (FHasi)
78. % ®, faga @7 Fiaweawa [ R
oA (3o WHo A1go)] Wisw A fFw
T () W FE e 87
(@) ¥ifew wa (Refwa o)
(b) g F WA (32 o wW)
(c) TeTEHH Wa (T AR)
(d) IR wR (A )

79. i =Tk Wevie & Gyl W (Fiem) A Had
wF FH (A) F Gay § T I H WA
FT ITEaT &1 GE uiomm g A & fore 3@
e yer ¥ P (i) & W s
gm?

(@) wnE FEwm (Refa wifm)
(b) G T (ewfrs Twifam)
(c) AT

(@) Frag i (Tsaege i)

80. fF=fafga # ¥ =w-w, @-UfaFfa FwRN
(es-ferfen dum) &, S @i (k) &
g # 4qul fewh Ww i @ w87
(@) =
(b) FH T
(c) TEHIR
(d) TIEER



71. What is the angle in degree between

the hour hand and the minute hand of
a clock when the time it shows is
5:20 PM?

(@ 35°
(b) 40°
(c) 42°
(d) 45°

72. If A, Band C are the angles of a triangle

such that A: B:C=2:3:4, then what
is the value of the following?

76. Which one among the following is not

an audio file format?
(@) WAV

(b) MPEG

(c) WMA

(d) RAW

77. The process of converting digital signals

to analog signals is known as
(a) demodulation
(b) modulation

tan? B+1 (c) transmission
tan? B-1 (d) conversion
(@ 4 :
9 78. A router works at which layer of Open
() Systems Interconnection (OSI) model?
(Z) 5 (a) Physical layer
0
@ (b) Data link layer
73. Which one of the following is not a part (c) Network layer
of program design phase? (d) Application layer
(a) Algorithm

79. A person wishes to apply a formula in
the entire column of the spreadsheet,
with regard to only one cell. Which type
of referencing should he use to obtain
correct result?

(b) Pseudocode
(c) Flowchart
(d) Code

74. Which one of the following is not

a function of operating system? (a) Relative referencing
(a) Protection and security (b) Hybrid referencing
(b) Store and handle data (c) Hyperlink

(c) Device management (d) Absolute referencing

d) Fil t
(d) File managemen 80. Which one of the following is a self-

replicating program that eats up the
entire disk space as memory?

75. Which one of the following is not an
operating system?

(@) Linux (a) Worm

(b) Mac OS (b) Trojan Horse
(c) Google Chrome (c) Ransomware
(d) Windows XP (d) Spyware
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81. foret wrrater @1 wufiss WM #0127 R e
anaTiEa ;
(@) e ¥ Fre 8 ey o @i £, sl ad 2016 & 2020 F INF TR FAG

F N A # :
& wk () TN FI TR FAS FIC A 90T T
b PR S it R 5 R g FE| A B e D
FE
2016 7 15 4 20
(c) AT9h H FHI T TR el HIRAR 2017 14 2 10 22
N A FH W AR YAl 2018 25 6 14 | 23
(d) 32.@2 ¥ mwem ¥ oTE W A 2019 30 7 15 21
i i () B e 2020 34 T 12 25
84. 9§ 2016-2020 #I Faf & dRH, UH 9§ A
82. f=fofiga wmoft w famm Hifs frm Foft it o # i =, o 9 & el &
2 SAfereran oft?
2 |11 ] 9 (@) A
3§59 (b) B
sk wwh 3, Pefife § @ BRd @ e
T 87 (d) D
(@ 14 85. T§ 2016-2020 #I Il % dvm, fF o
© -2 (@) A
d) -4 i85
(d) i
(d D
83. IR FATHER ® DCRJCT % &9 # Fefeifiad
3 st 8, 9 UNCLE ¥ forq &2 &1 & 86. T§ 2016-2020 ! IRy F dww, FFa W
@) SPANC $ wmw # gy T = 27
(b) SPANA el
(b) B
(c) WLEJG © C
(d) WLEGJ (d) D
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81. What is the primary purpose of a The next three (3) items are based on the

firewall? following data, where profits of four companies
during the year 2016 to 2020 are displayed
(@) Scans all your systems for in rupees thousand crore :
existence of virus
Company| 4 B o D
(b) Records your activities on the Yodr
computer
2016 T 1-5 - 20
(c) Stops you from installing software
that will harm your computer 2017 14 2 10 22
. 2018 25 6 14 23
(d) Prevents unauthorized access to
your computer via internet 2019 30 7 15 21
2020 34 7 12 25

82. Consider the following table :
84. Which company had maximum growth

3 8 5 rate in profit with respect to the
previous year in single year during
2 11 9 the period 2016-2020?
1 |-afe (@ A
(b) B
Which one of the following is the (c) C
missing number in the above table? (@ D
(@) 14 85. Which company’s growth rate in profit
is the highest during the period
(b) 4 2016-2020?
€ -2 a4
d) -4 sl
(d) © C
(d) D
83. If FATHER is coded as DCRJCT, then : _ !
what is the code for UNCLE? 86. During the period 2016-2020, which
company’s growth rate in profit is the
(a) SPANC least?
(b) SPANA " A
(b) B
(c) WLEJG © ¢
(d) WLEGJ (d D
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87. 2020 # fFH =fw 1 fafeem =53 80% =g 89. UH gEMer fRdl Iwg w1 3ifha qed, Ik W

m ) At 2019 # Iuw Fafren =@ 38 I Ted A 25% ik Fuifa war 21 6% @
F 10% 91, @ 2020 # Fafeen == % W & foe fea ufowe Tz (fewse)
a4 o1 Teraa wfaema a1? 1 B
15:5%

(@ 20% o

(b) 152%
(b) 18%

€) 150%
P (d) 158%
(d) 15%

90. iy wuw 3 a9l % fIu 5% aifts & W, 3

7 a6 ¥ fou 8% a1fie @ W aw 10 9§ F
88. % Il ¥ 1,400 § U WiEhhe @liear & 3 e 6 I F o 12% s W W B

15% i & W 3@ 39 @ 2| WEhA H SRR 38R oar 21 A% 13 ad H wie W

farsra qed #0127 3% 3R YaH fFn T e =N € 5,350

2, @ arfm 3 feadht gwufdn 3uwm ft off, AR
FTEROT SIS & WSS WHIRa o T 27

(@ €1,190

(@) ¥ 5,000
(b) ¥1,160

(p) ¥5,500
{c} ¥ 210

(c) 5,100
(d) ¥1,180 (d) ¥5,800
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87. In 2020, the medical expense of a person 89. A shopkeeper fixes the marked price of an

increased by 80%. If his medical item 25% above its cost price. What
expense in 2019 was 10% of his salary, percentage of discount may be allowed
then what percent of his salary was to gain 6%?

the medical expense in 2020?

(@) 155%
(@) 20%
(b) 152%
(b) 18%
(c) 150%
16%
% (d) 158%
(d) 15%
90. Aneesh borrowed some money at the rate
of 5% per annum for the first 3 years,
8% per annum for the next 7 years and
12% per annum for the period beyond
88. A man buys a cycle for ¥ 1,400 and sells it 10 years. If the total interest paid by
at a loss of 15%. What is the selling price him at the end of 13 years is ¥ 5,350,
of the cycle? how much money did Aneesh borrow,
if the interest is charged as simple
rate of interest?
(@) ¥1,190
(@) ¥ 5,000
(b) ¥1,160
(b) ¥5,500
@ F210 () ¥5,100
(d) ¥1,180 (d) 5,800
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qT—C

ORA &1 |au™
91. W1 # G-Il F ¥y gl Al N 92. wia ¥ uhRum ¥ Fafafes sg=sd d @
gfeEl & 49 feu T g2 w1 W@ W EE W fra® arefiv wufy &1 AR, T wifgus
gf : st 27
(a) TR 41
-1 He-11
(vra & wfeam &t (=t | Torn man) (b) =32 300A
IvEY)
(c) T 19
A TERmEEASNT 1. S H GEAgH
E2RerA (d) IT=% 38
B. T ARl @ W 2. @i dfes
C. wafire wfwat 3. WY TS A 93. T ¥ frE WRA & TgUld & ¥ A T HA
w1 Giau= afy & fore dan hi?
L
(b) Wiaw qifea
(c) WY TUFTH
2
(d) iR g8
(@ A B D
4 3 1 2

94. 9 F TUe Uew TRl we ¥ Hiftgs IW
arEar 8, @ Fefafga @ @ fee wwr @ 9w

(b) A C D IH e
4 1 3 2
(@) ANITRA TH
A B oD ;
% 2 1 3 4 (b) TR S
(c) 19 FE TH
@ A B C D
2 3 1 4 (d) et -rl 9ee @ o=
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PART—C
CONSTITUTION OF INDIA

91. Match List-I with List-II and select the 92. Under which one of the following Articles
correct answer using the code given of the Constitution of India is the right
below the Lists : to property a constitutional right?

(a) Article 41
List-I List-IT
(Provision of the (Borrowed from) (b) Article 300A
Constitution of India)
(c) Article 19
A. First-past-the-post 1. Cax.xadlan Consti- (d) Article 38
system tution
B. Charter of 2. Irish Constitution 93. Who among the following served as the
F\'mdamental President of India for the shortest
Rights period of time?
C. Residual Powers 3. Constitution of the (@) Giani Zail Singh
United States of
America (b) Pratibha Patil

: 3 i g4 B (c) Sarvepalli Radhakrishnan
D. Directive Principles 4. British Constitution

of State Policy (d) Zakir Husain

Code :
94. When a Member of the Parliament

(@) A B C D desires an oral answer from a Ministry,
4 3 1 2 which one of the following types of
questions will be suitable?
(b) A B € D
4+ 1 3 2 (a) Unstarred question
(c A B C D (b) Starred question
2 1 3 -+

(c) Short notice question
(d A B C D
2 3 1 4 (d) Question to a private member
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95. Gue H WEeH umfd % an #, Frefafas d @ 08. Twufy WM ¥ i fRh TSH F AR,
FH-41 HF qE TE 27 frerffaa § ¥ F9-91/F9-8 99 T8 2/87

1. wgafa weE % ade el T % SR

(a) @fufa %1 FEee gie ad F g 8| o Seatks e ik o e

AT 21
afufa Jwfcus et = ECind|
i g 2. wmufd WA % nfiA R TSw % W
() e fades 6 st e 21 @ T A h A, W O E
aore gTia & ot wise S )
(d) wffa ggm ¥ ? 5 waem # ee d e e S . T
fora =9 & wega feean smw)
(@ ¥4 1
(b) FEE 2
QG.méfﬁﬁﬁ@Hﬁﬁ%mﬁW& (c) 1 3w 2 3t
' (@ F@1IARAH2
(@) W
(b) o 99, frfafad wida Tt # ¥ forw U= W 1974
% YRG 99 & UF WE U9 & ®9 ° Wi
() uiwad feren T ?
(a) BRI e
(d) &:a§
(b) wfOTg
(c) Tt
97. WRA & I=dH TEEE WRA & dgE & fFE (d) fafem
g9 & i TemEER AftERRar H
war 87
100. 1983 # Tfda wEmEn mm F=fafas 4 @
(a) IITT 141 fora@ qeftm 27
(b) FTRT 142 (a) R SRS
(b) FE-TT GaY
(c) 3% 143 A hik
(d) I 144 (d) TwwEE § gar
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95. Which one of the following statements 98. Which of the following statements about
about the Estimates Committee of the a State under the President’s rule is/are
Parliament is not correct? correct?

1. The budget of a State under the
President’s rule is approved by
the Governor of the State.

(a) The term of office of the Committee
is five years.

(b) The Committee suggests alternative 2. The procedure to pass the budget
policies. of a State under the President’s
rule is same as that of the budget
(c) The Committee examines Money of the Union Government.
Bill.

Select the correct answer using the code

(d) The Committee suggests the form given below.

in which estimates shall be

presented to the Parliament. (@ 1 only
(b) 2 only
96. What is the term of office of the members (c) Both 1 and 2

of the Public Accounts Committee of

b (d) Neither 1 nor 2

(@) One year 99. Which one of the following Indian States
was admitted as an ‘Associate State’
(b) Three years to the Union of India in 1974?

(c) Five years (a) Meghalaya

(b) Manipur

(d) Six years
(c) Mizoram
(d) Sikkim

97. The Supreme Court of India exercises

advisory jurisdiction wunder which ; il :

Article of the Constitution of India? 100. The Salrkana CommlsSI(?n, set up in
1983, is related to which one of the
following?

(a) Article 141

(a) Metropolitan planning
(b) Article 142

(b) Centre-State relationship
(c) Article 143 (c) Parliamentary committees

(d) Article 144 (d) Reforms in bureaucracy
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101. W-Ts3 uhwg & =) #, Fefafea & @ 104. Trafafaa § & FH-u1/F9-8 F9F w2 2/87

F-41/FA-8 FYA FE 2/27 :
B S S Y S 1. wft g veg-gE # fGum-wand & 2
Wain = 16 2. g T i faaw-a 2
2. ¥g 69 ¥ wafua fawgt A e 1@ W o
w2 49 fg T g w1 W W wE IR gh
= foew T e w1 W W T IW g
(@) *a« 1 (@) *ad 1
(b) FaE 2
(€ 1 3R 23H (b) a2
(@ F@1IRAH 2
(c) 1 3R 2
102. Fr=ffea § ¥ fra dfaum g sifufem
I ww ww 3R usg faum-mwet d@ (@ FI@1IMAA2
srggfua wifedl of srggiea smetadl & fog
TIFT % AREU H IR W TG T TY |
st o fepen ren?

(@) 93af wauA HAfuFEm
(b) 10141 GEiem ArfufEm
(c) 102af "eiem Arfafem

T genee srfufem
(@) 10491 105. frfafiaa § & FH-41, YRA & woER B TFA

103. fr=fafaa # & F9-81/F9-8 w09 | 2/87 Sl

1. YRd % UG YR % HERIEEE 3 i : ,
i, > Rrsal (iR SeeT) (a)mmmwﬁszﬁ%gw%
=1 Tiges e 2 e t

2. ¥WRA W WEEEEE 3R WRd H 3

fradl (o wer), (b) YR H IHGH ANEE GaugW

e v §) ST A % fo wad @

AR SRR LS G () & wER % fafim =R § o o =

(@) *ad 1 $ faftre it 2

(b) FaA 2

(c) 1323 (d) TR % TIF TR * o voea F d@a

(d Fd@13MmAd2 fafafés &
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101. Which of the following statements about

the Inter-State Council is/are correct?

1. It can inquire into disputes
between States.
2. It cannot investigate subjects

involving the Union.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

102. Which one of the following Constitutional

Amendment Acts further extended the
reservation of seats for SCs and STs in
the Lok Sabha and the State Assemblies
from seventy years to eighty years?

(a) 93rd Amendment Act

(b) 101st Amendment Act
(c) 102nd Amendment Act
(d) 104th Amendment Act

103. Which of the following statements is/are

correct?

1. The President of India appoints the
Attorney General of India and the
Solicitor General of India.

2. Both the Attorney General of India
and the Solicitor General of India
are constitutional posts.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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104. Which of the following statements is/are

correct?

1. Not all Union Territories have
Legislative Assemblies.

2. Union Territory of Puducherry has a
Legislative Assembly.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

105. Which one of the following is not a correct

description of the nature of India’s
federalism?

(a) India’s federalism is based on the
doctrine of ‘Separation of Powers’

(b) The Supreme Court of India is
independently entitled to interpret
the Constitution

(c) There are different tiers of the
Government and each tier has
specified jurisdiction

(d) Sources of revenue for each level of
the Government are specified

[ P.T.O.



106. WRA ¥ UPUfd 394 eEAER Aigd o@ R AT 109. fr=fafaa # @ S=-a1 H9= wd T8 27
9 M R | I ans Fefafaa 3 |

forlt weiiftra gmm?
(@) TG % GiEUM % AFER, FA AHIREY
fa) ¥ g T e % s aRE w9 & S @il
(b) WWA % A -amqﬁ # sgufeafa 4,
I A aftgan 9@ e
R (b) wafie wfwal gae § fifa 21
(c) W@ T IIFI
(d) T AW AT () ¥RE % TEAM I h FHEAH F
wifyurfes wa §1
107. 2000 # 7fea uda wfaum e wefign s ;
(o Ho AR Teo Hio) F AW TN A7 (d) Y@ ¥ WEUR F AGER, WG F
Fri-TeeEdas i wWaaa & fog
(@) = THo THo JeheaHdl 39y B
(b) A AR o FHi
(c) =EHfd o THo FW
(d) =TEHfd Fo Sfo STEAFOH
108. HiEzaed A (W) & R #, frefafaa 7 @
Pa-T /-2 Fo T 2/ 110. 5t U597 @1 ToaUE fRR O QAT WEGA
?
1. WEesed A & A 1946 § wiawH i
T & Frated g 91
2. WEHEA AT Th UF WiGUH A9 & (a) SR T qgafd
for gfeem ofm <t min a7 o)
9 e T F2 F W@ W T IW FRT) (b) ¥ e
(@ Faa 1
(b) a2 (c) Trm-w & s
(c) 1 32 3F
(d T 13MMAE2 (d) TSI H1 HEIEEwH
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106. The President of India may resign from

his/her office by writing under his/her
hand. To whom of the following is
his/her resignation addressed to?

(a) The Chief Justice of India

(b) The senior most available Judge of
the Supreme Court, in the absence
of the Chief Justice of India

(c) The Vice President of India
(d) The Speaker of the Lok Sabha

107. The National Commission for Review

of the Working of the Constitution
(NCRWC) constituted in 2000 was
chaired by

(a) Justice M. N. Venkatachaliah
(b) Justice Madhukar H. Kania
(c) Justice J. S. Verma

(d) Justice K. G. Balakrishnan

108. Which of the following statements about

the Mountbatten Plan is/are correct?

1. The elections to the Constituent
Assembly were held in 1946 under
the Mountbatten Plan.

2. The Muslim League’s demand for
a separate Constituent Assembly
was conceded in the Mountbatten
Plan.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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109. Which one of the following statements

is not correct?

(a) As per the Constitution of India,
the Union Council of Ministers
is collectively responsible to the
Parliament.

(b) Residual Powers are vested in the
Parliament.

() The President of India is
the Constitutional Head of the
Executive of the Union.

(d) As per the Constitution of India,
there is provision for independence
of the Comptroller and Auditor
General of India.

110. The Governor of a State may tender

his/her resignation to

(a) the President of India

(b) the Union Home Minister

(c) the Speaker of the Legislative
Assembly

(d) the Advocate General of the State
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111. F=fafas § ¥ $9-91 wRA & G0 H THH

Ei 27
() Taf fomir
(b) wEuTferRt st FEfE w

(c) I=am <EEE & A w R
FAT

(@) wH0um H FEhkE &

112. A % dfum & ofq g@ wast § 429

wfgum guiem sifufem, 1976 F g7 faee T
ufads Frafafas 3 & fra wfufa H R
W anuTiE 97

(a) Tt oz wfafa
(b) TSR wff
(c) Fha T wfuf
(d) Sfo dto Fo T wiifa

113. HRm-IweE gud 3 fiefefes § @ e

e stfufam & sfufam = gfa fen?

(@) Wi ufmg sfufem (femm wrfiew
T#), 1909

(b) WG weE AfufEm (TeEe AfE IR
%), 1919

(c) vra wew AfufEm (e e e
w#), 1935

(d) vdE ufmg sfufem (3femm wefien
#), 1892

CDLE-A-GAP/S54A

114. J9EE I Sew, Fars Y w1 ey FA

Tt #¢ Yy fed =afs 1 fran @
s wafa & fou Feg fen s wiftea
& Fah?

(@) T AR

(b) A WE

(c) = uR

(d) 3 TuTE

115. ffafes & 4 vt i fr gl =

A% O & el & Matew & foe sEfeR
o T 27

(@) z@-geht srgufes wfafife (ardf-fore
i fEsieeE)

(b) FTR-TAE foen

(c) waife wa & Sfa A vgfa (w-Twe-
z-9ree fwen)

(d) Tgue vgfa (smeifiere frew)



111. Which among the following is not a 114. Barring exceptions, no law providing

function of the Parliament of India? for preventive detention shall authorize
the detention of a person for a period
(a) Making laws ]onger than

(b) Controlling the executives

(c) Appointing Judges to the Supreme . o S
Court
(d) Controlling taxation (b) two months

(c) three months
112. The changes made by the 42nd

Constitution Amendment Act of 1976

in the Fundamental Duties under the

Constitution of India were based on (d) two weeks
the recommendations of which one

among the following Committees?

(a) Swaran Singh Committee

(b) Rajamannar Committee

115. Which among the following systems
of representation is adopted for the
election of members to the Lok Sabha?

(c) Indrajit Gupta Committee

(d) G. V. K. Rao Committee

(a) Party-list proportional represen-

113. The Montagu-Chelmsford Reforms led tatini
to the enactment of which one among
the following landmark Acts?

(b) Instant-runoff system
(a) The Indian Councils Act, 1909
(b) The Government of India Act, 1919 )

(c) First-past-the-post system
(c) The Government of India Act, 1935

(d) The Indian Councils Act, 1892 (d) Binomial system

CDLE-A-GAP/54A 41 [PT0.



116. fFrafafaa § @ FF-81/39-8 %99 w8 2/27

1. ¥Rd & dfeum % Igeae 14 & adH
U9 IenH ffe @ =t @ g
FaER L & fo e )

2. U9 9@ i foufa o= =fwat & =
I FFER FI AR 380 Gl g,
7 M FaER F TE1 -39 A |

H1 fow T 2 W@ W w3 gh

(@) Faa 1

(b) Fae 2

c) 1323

(d Fd13RAH2

117. Ffafaa § @ S-w/a9-8 waa wd 2/87

1. YRd $ g6e 9RG & TP, &6 |
3R T | @ e s+ 2

2. 1950 H Ugell IR TST GHT 1 TS foma
™ A1)

H fRe e e W @ R gd 3w ghu)
(@) ¥« 1

(b) Fa 2

(c) 1323

(d Fd13MmAdE2
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118. Fr=fafaa # @ F-81/39-8 %99 wd /87

1. e Afgen sEm us difgue e
2

2. W e =t s@m w wifant=w
e 7t 21

H= fau o e w1 W W @ W gl
(@) % 1

(b) F 2

(c) 132 3=

(d T 1IARAE2

119. F=fafEaa & @ S9-dt & aw H sEfy g=@

wq A7

(@) 2% @ W
(b) 54t e |
(c) 9df =i T

(d) 12 & |

120. f=fafaa & @ fow o9 4 =9 a1 i @@

aferen WiE #7
(@) 39 ¥
(b) WA TR
(c) TSI

(d) uafEm sme



116. Which of the following statements is/are

correct?

1. Under Article 14 of the Constitution
of India, the State is bound
to impart equal treatment to
dissimilarly situated persons.

2. The State can justify an unequal
treatment between two similarly
situated persons, if there is such
a precedence of unequal treatment.

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

117. Which of the following statements is/are

correct?

1. The Parliament of India consists
of the President of India, the Lok
Sabha and the Rajya Sabha.

2. The Rajy;a Sabha was constituted
for the first time in 1950.

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2
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118. Which of the following statements is/are

correct?

1. The National Commission for
Women is a constitutional body.

2. The National Commission for
Backward Classes is not a
constitutional body.

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

119. Which one among the following Lok

Sabhas had the shortest span?
(a) 2nd Lok Sabha
(b) Sth Lok Sabha
(c) 9th Lok Sabha

(d) 12th Lok Sabha

120. Which one among the following States

has the largest number of Rajya Sabha
seats?

(a) Andhra Pradesh
(b) Madhya Pradesh
(c) Rajasthan

(d) West Bengal

[ P.T.O.
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